Velocity using Limits October 04, 2023

Today's Plan:

Learning Target (standard). | will find the average velocity and
instantaneous velocity of a particle moving along a curve.

Students will: Complete practice problems over previous concepts at the
boards, put up homework problems on the board and make neccessary
corrections to their own work, take notes over new material and complete
practice problems over new concepts.

Teacher will: Provide practice problems over previous concepts, check
homework problems for accuarcy and provide students feedback, describe
and provide examples of new concepts and assign students assessment
problems over new concepts.

Assessment. Board work, homework check and homework assignment

Differentiation: Students will work at the board, go over and correct
homework at their seats, actively engage in lecture over new concepts,
practice new concepts with the aid of other students and the teacher and
complete homework assignment.
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Velocity Worksheet

1) changes direction at ;:% 2) changes directionat ¢ =§
moves left: ;513 moves left: O0<t<8
2
moves right: 0<; 3 moves right: t>8
2

() =2t +13 v(t) =3t" - 24¢
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Velocity Worksheet

3) changes directionat; =3 9 4) changes directionat =8
moves left: 3<t<9 moves left: t>8
moves right: 0<7<3,1>9 moves right: 0<t<8

v(f) =3t" —36t + 81 w(t) = =31* + 24t
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Velocity Worksheet

5) changes direction at ¢t =4 6) changes directionat =2
moves left: t>4 moves left: t>2
moves right: 0<t<4 moves right: 0<zr<2

v(t)=-2t+8 v(t)=-2t+4
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2
f(JC) =x"+2x Explain the meaning of both results.
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The slope of the tangent line through (a, f(a))
to f(x)=x"+2xis 2a+2. The slope of the tangent
line through (2,8) to f(x) = x” + 2x is 6.
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T osition of a particle on a curve is given by s(t) = t? - 6t feet. Find
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The posmon of a particle at any {ime t in seconds is given by

s(t) = 2t%=¥ + 1 in feet. Ejnd théWelocity of the particle at
secondsy? seconds and® seconds. When will the particlédtop
movmg’? i
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Assignment:
p.89 #5,7,8
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